
MATH 244 Linear Algebra Worksheet 4 Spring 2025

(1) Determine whether the following matrices are invertible. If invertible, find the inverse.

(a) A1 =

[
2 3
1 2

]

(b) A2 =

[
0 2
3 0

]

(c) A3 =

[
2 0
4 2

]

(d) A4 =

[
cos θ − sin θ
sin θ cos θ

]

(e) A5 =

[
1 3
2 −6

]

(f) A6 =

 2 −1 0
−1 2 −1
0 −1 2



1



(2) Write the system in matrix form, and then use the inverse of the coefficient matrix to find the solution of the system.

2x1 + 3x2 = 1

x1 + 2x2 = 5

(3) Write the system in matrix form, and then use the inverse of the coefficient matrix to find the solution of the system.

2x1 − x2 = 1

−x1 + 2x2 − x3 = 2

−x2 + 2x3 = 3


